




“RISK RATING” 

Definition of Risk Rating (R) 

This is the numerical value derived from multiplying the Hazard Severity by the Likelihood of Incident Occurring.  
 
The Risk Rating calculation enables ACC staff to quantify the risk potential either actual or perceived, having first examined, reviewed and assessed 
existing controls; information available; training records; and or best practices demonstrated. 
 
Hazard Severity (S) - Explanation 
A hazard is something with the potential to cause harm, which can vary in severity of outcome. The severity of a hazard has been rated according to 
the following table: 
 

 
Likelihood of Incident Occurring (L) - Explanation 
This is the consideration of how likely an incident is to occur, and is rated according to the following table: 
 

 
Calculating a Risk Rating (R) 
The following matrix shows how the Risk Rating is calculated: 
 

 
 
 
 
 
 
 

The aim is to reduce the Risk Rating to as low as is reasonably practicable  - a score of 3 or less is usually regarded as acceptable and scores of 12 or 
above are clearly unacceptable.  Where the risk rating is greater than 3, consideration is reviewed to assess if all possible controls have been utilised. If 
not, then the Line Manager needs to decide whether the activity should go ahead or not by analysing and comparing the benefits of carrying out activity 
against the actual or potential costs associated with the increased risk.  Where risk ratings are 6 or above, emergency/contingency arrangements need 
to be included in the section of the risk assessment detailed for this purpose. 
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L4 High - Where it is certain that an incident will occur. 
L3 Medium - Where it is probable that an incident will occur. 
L2 Low - Where an incident is possible. 
L1 Very Low – Where an incident is unlikely. 

S4 A fatal injury or illness. 
S3 A major injury or serious illness may occur eg fractures or loss of consciousness. 
S2 Outcomes where persons are likely to be off work for more than three days or where there may be recurring injury or ill-health. 
S1 All other outcomes, including where persons may incur injuries resulting in periods of absence from work for up to three days. 

 L1 L2 L3 L4 
S1 1 2 3 4 
S2 2 4 6 8 
S3 3 6 9 12 
S4 4 8 12 16 




